
000

001 010

011

100

101 110

111

(x0 + x1) y1 =
x1y0

<latexit sha1_base64="vc0iCtzaeOqCYzw1qPdOopP8i/4="></latexit><latexit sha1_base64="vc0iCtzaeOqCYzw1qPdOopP8i/4="></latexit><latexit sha1_base64="vc0iCtzaeOqCYzw1qPdOopP8i/4="></latexit><latexit sha1_base64="vc0iCtzaeOqCYzw1qPdOopP8i/4="></latexit><latexit sha1_base64="vc0iCtzaeOqCYzw1qPdOopP8i/4="></latexit>

(x1 + x2) y3 =
x1y2 + x2y0z

<latexit sha1_base64="QP3Ja4ukaxU7oUb+oXl5pglLRjE="></latexit><latexit sha1_base64="QP3Ja4ukaxU7oUb+oXl5pglLRjE="></latexit><latexit sha1_base64="QP3Ja4ukaxU7oUb+oXl5pglLRjE="></latexit><latexit sha1_base64="QP3Ja4ukaxU7oUb+oXl5pglLRjE="></latexit><latexit sha1_base64="QP3Ja4ukaxU7oUb+oXl5pglLRjE="></latexit>

(x0 + x3) y4 = x3y2

(x1 + x3) y5 =
x3y3 + x1y4

<latexit sha1_base64="tENqTt4cVBV4gqmkXDRjrtw12mg="></latexit><latexit sha1_base64="tENqTt4cVBV4gqmkXDRjrtw12mg="></latexit><latexit sha1_base64="tENqTt4cVBV4gqmkXDRjrtw12mg="></latexit><latexit sha1_base64="tENqTt4cVBV4gqmkXDRjrtw12mg="></latexit><latexit sha1_base64="tENqTt4cVBV4gqmkXDRjrtw12mg="></latexit>

(x0 + x1 + x2 + x3) y7 =
x1y6 + x2y4z + x3y1z

<latexit sha1_base64="JoGB/dWHqSvRonMZ6fI4ROON8Ec="></latexit><latexit sha1_base64="JoGB/dWHqSvRonMZ6fI4ROON8Ec="></latexit><latexit sha1_base64="JoGB/dWHqSvRonMZ6fI4ROON8Ec="></latexit><latexit sha1_base64="JoGB/dWHqSvRonMZ6fI4ROON8Ec="></latexit><latexit sha1_base64="JoGB/dWHqSvRonMZ6fI4ROON8Ec="></latexit>

(x0 + x2) y2 = x2y1

(x2 + x3) y6 =
x2y5 + x3y0z

<latexit sha1_base64="nmLFzbXE9WBqCr6zEi21jipUG/g="></latexit><latexit sha1_base64="nmLFzbXE9WBqCr6zEi21jipUG/g="></latexit><latexit sha1_base64="nmLFzbXE9WBqCr6zEi21jipUG/g="></latexit><latexit sha1_base64="nmLFzbXE9WBqCr6zEi21jipUG/g="></latexit><latexit sha1_base64="nmLFzbXE9WBqCr6zEi21jipUG/g="></latexit>
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